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Scumy> Execution Plan e
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1 USE wideWOrldImportersDw Clustered Index Scan (Clustered)
2 GO Scanning a clustered index, entirely or only a range.
3
- . i i 1 |
4 [=SELECT * FROM [Dimension].[Customer] Phy_slcal Opera_tlon e T
K ) Logical Operation Clustered Index Scan
5 | WHERE [Postal Code] = '90761 Actual Execution Mode How
6 | ORDER BY [Customer] Estimated Execution Mode Row
7 GO Storage RowStore
2 Number of Rows Read 403
110% -~
Actual Number of Rows 3
AR Results B Messages & Executionplan Actual Number of 0
Query 1: Query cost (relative to the batch): 100% Estimated /O Cost 0.0120139
SELECT * FROM [Dimension].[Customer] WHERE [Postal Estimated Operator Cost 00126142 (52%)
- ithy Estimated CPU Cost 0.0006003
2l = Estimated Subtree Cost 0.0126142
SELECT Sort Clustered Index Scan (Cluste. N b = 1
Cost: 0 % Cost: 48 % [Customer] . [PK_Dimensicn_Cus.. umber of Executions
sesied esEs Cost: 52 % Estimated Number of E i 1
Estimated Number of Rows 3
Estimated Number of Rows to be Read 403
Estimated Row Size 4098
Actual Rebinds
Actual Rewinds 0
Ordered False
Node ID 1
Predicate
[WideWorldimportersDW].[Dimension].[Customer].[Postal Code]
=N'90761"
Object
[WideWorldimportersDW].[Dimension].[Customer].
[PK_Dimension_Customer]
Output List
IWideWorldimoortersDW1.IDimensionl.[Customerl.Customer Kev.
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